Q.P. Code : 13322

Third Semester B.Com. Degree Examination,
November/December 2019

(B.Com. Regular/Tourism/LS/SP)
(CBCS Scheme — Freshers)
Commerce
Paper 3.4 — FINANCIAL MANAGEMENT

Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answers should be completely in English or in Kannada.
SECTION - A/a%n - &

1.  Answer any FIVE sub-questions. Each question carries 2 marks: (5 x 2 = 10)
03RF)WeBT DB BVB-BBNYIT GuZd2. T3 DI 2 Wosriey !

(a) What is Financial Planning?
BT 0ecsodd eac;a’raﬂdgl SR8

(b) What is profit maximisation?
o230 NOXETT L DOWTERO?

(c) Give the meaning of cash in flow.

BOT Y DO e:ac;ﬂs-‘dd:’gL ek,

(d) Name the four sources of working capital.
T, T903F VTS WOBYH JopONYT), B0

(e) What do you mean by Dividend?
RT3 DOTTETI?

(ff  What is Investment Decision?
BRET VperT Hordero?

(g) The investment of the project is Rs. 2,00,000. Salvage value is 15% and its
Additional W/C is 20,000. Calculate Average Investment.

odnemiody ®ARTE T, 2,00,000 SNR), ¥BT Guds ;b’acgs de. 15 ehdy, ﬁzﬁoﬁdﬁ
FODE QTS WoBY . 20,000 m?mori ATIR0 maﬁojodoq TOBY LHBOWD.
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SECTION - B/2wen - 8
Answer any THREE questions, each question carries 6 marks : (3 x6=18)

QR ETTR FoeTd BNt evzd. 38 ISR 6 wosrieh :

2. What do you mean by bonus shares? State the advantages of bonus shares.
WReaE Redondh HoEdesy? vR)ng eado&raorir?w% 892,

3. Briefly explain any six determinants of a capital structure.
WoBTY Cuidod Boeed TOFHaR Vet 03RZTITETL €380 ©03NYR) TogT=aN SO

4. Delta Co. is planning to buying a machine. Two alternatives P & Q, each costing
T 50,000. You are required to call centre profitability index (PI) under 10%
Discount rate the expected cash in flows is given below :

Cash in flows ()
Year Machine P Machine Q

1 25,000 42,000
2 28,000 39,000
3 31,000 36,000

Discount factor @ 10% is as below :

Year : 1 2 3

Discount factor @ 10% : 0.909 0.826 0.751

| Ben, Fozdadw Qboa“Jaewﬁda‘adﬁo DRz olpeRd), TR soNda)  20BR
/ obodnessonng 2888 de. 50,000 nwia) otede oboeessdend Sncd wd 393
' FYNT03 womeizedN :

ST w9 B80) )

IRE aoBACSIOR P abodecsEon Q

1 25,000 42,000
2 28,000 39,000
3 31,000 36,000

S9N Be. 10 383 B00 35200008 o0ER Qboa’;.@,eﬁa’dmrw (OrTA] z’;.raa%ﬁ%faii TOBY &HBOWD ;
JRE 1 9 3
B3 @0 10% : 0.909 0.826 0.751
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S.

From the following information calculate operating, financial and combined
leverages.

Sales Rs. 10,00,000, Variable cost 30%, fixed cost 2,00,000, 10% Debenture
capital is 15,00,000 and tax rate is 50%.

BUM TREIDOI w08 oINPT, THAIRFWTN, Bwterd BB FoodeeRs IITerFridR), Sowd
&BOWD :

SR00ts Te. 10,00,000, whesrs $1, 30%, 38 3@, Be. 2,00,000, e 10 oz s
20@=% T, 15,00,000 03 3018 13 50%.

Evaluate the future value at the end of five years of the following payments
at 10% rate of interest.

At the end of 1st year Rs. 6,000
At the end of 274 year Rs. 8,000
At the end of 3 year Rs. 10,000
At the end of 4th year Rs. 12,000

At the end of 5th year Rs. 14,000
8 YN DBI0DT), B IRFT FpIoDY, Besme 10 To3 WR DRRB3 5 IAenY
ERlormalev Il el 23&:’% ﬁa%qu TOWO B3V :

0. 6,000 Setoscd IR V3T,
0. 8,000 20@@0d SRE ¥og TS,
G.e. 10,000 Sap0sod SR 0og i,
Se. 12,000 meeydod SR @03 Bd,
Be. 14,000 andod I3 wos 3

SECTION - C/ %1 - %

Answer any THREE questions. Each answer carries 14 marks : (3 x 14 = 42)
BINT 0T TWTR JaRTd BBNIR ev3d2. TS T3t 14 wosniey

A
Explain in detail Goals of Financial Management.

BHTIR) ASFBT 0D HuTl €SNI, AD[TDaN HZO2-

What do you mean by working capital? Explain the determinants of working
capital.
FODF VTE WOBDY N0BTERO? VBT e V=0 Dedo 203N SO

3/6




Q.P. Code : 13322

9.

The information given below is related to “E” Company Ltd.
Initial investment is Rs. 2,00,000

Salvage value is 10%

Economic life of project S years

The expected profit before Depreciation and Tax is given below (PBDT)

Year PBDT
1 38,000
2 48,000
3 58,000
4 68,000
5 78,000

P.V. factor @ 10% Disccunt rate is

Year :. 1 2 3 4 S
P.V. Factor: 0.909 0.826 0.751 0.683 0.621
You are required to calculate ARR and N.P.V.

E 80501 KowoRaAT S2&E000 FYT0BE0STOZT -

BAHBINYO Tw. 2,00,000

Bu¥E B30 10%

20D 5 IRFNLD

POTIIUIT, ASTE T 301IN08 BRTAT 2= (PBDT) 3950803003

DIRE A=Te =03 30rines

J2TOT enyd (PBDT)

1 38,000
2 48,000
3 58,000
4 68.000
5 78,000
Be. 100 5828 T -
DARE 1 2 3 4 S

B3 WT: 0.909 0.826 0.751 0.683 0.621

Boed Bk, 2 SRE&3aD FZCHROT K)d;é BT TP, 2OF) 00w eIy Cﬁddi’% TOBY
SoBODO.
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10. The Ranga Co. Ltd. operates its business with a equity capital of Rs. 50,00,000 of

(s,

¥ 100 per share. Co. wants to raise further T 30,00,000 for major expansion
programme with following 4 alternative plans :

(a) All equity shares

(b)  All Debentures at 10% interest rate

(c) % 10,00,000 from equity and X 20,00.000 from 10% Debentures

(d) ¥ 15,00,000 from equity and ¥ 15,00.000 from 10% preference shares

The Co. Tax rate is 50%. Calculate E.P.S. of each plan of EB.LT
is ¥ 8,00,000.

dori B30T AabIT) TRZ BR. 50,00,000 ta. 100R ma’uar% RETY  WOBZSBR0DR
T A3k noéci) 33 T30 eaabeﬁanaﬁ c:_:,c..ﬁ‘) de. 30,00,000 eﬁ%ﬁéo&arﬁ% FYT00
4 2R o.izaeasa?rieszdanL 0283 NS

(a) Whd), drogsad% md)aags RETONFT JE =m0,
(b) 2bd), msxm de. 100 mos3ndos =z 1r-{e335 1A %)

(¢ ©w. 10,00,000 ﬁdfaﬁ RKeoongor DR w3 dwe. 20,00 000@) 3e. 100
WOTZ NPT ST 0H0Z)30.

(d) d©w. 15,00 00063 —ama RedonYor =) evdd . 15 ,00 OOORb de 100 —as,igs
RKedonors wt:%’&h)@t:b

gozdad 301t @S Be. 50 wh@y, EBLT. . 8,00,000 egd 38 alecmdol 33
HedT oS (E.P.S.) 80w &B0D.

From the following information calculate o pay-back period of both the machines
Raja and Roja.

Particulars Machine Raja Machine Roja
Cost of each machine 5,00,000 6,00,000
Life S year 6 years
Co. Tax rate * 50% 50%
PBDT (profit before Dep. & Tax)
1st year 1,10,00 1,80,000
2nd year 1,40,000 2,10,000
3rd year 1,70,00 2,40,000
4th year 1,60,000 1,90,000
Sth year 1,30,000 2,00,000
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FYTORE I0&300T Tz F0B) B 0103R,STTRNG Lomamd em@ai)aizt TOBY HBOWD :

AI0H 003, Tazse 0303, Buectse
wbd) e, 5,00,000  6,00,000
2eTTY 5 3= 6 33F
3033&01) 301 (afe] 50% 50%

30 2o 3TFYN0S TRTST wrg (PBDT)

18 IRE 1,10,000  1,80,000

28¢ IS¢ 1,40,000 2,10,000

3de IAF 1,70,000 2,40,000

4de IR 1,60,000 1,90,000

Sue IRF 1,30,000  2,00,000
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